EXPRESSIONS REVIEW LESSON
We use expressions to find the value of any term in a pattern. We can make expressions for linear patterns using the format y = mx + b 
Leave the y and the x. To find the m and b:
· m = slope = the pattern number (the rule)
· b = y-intercept = value of term 0
Example:   5, 8, 11… 
· the pattern number is + 3 each time. Therefore, m = + 3
· b = term 0 = term 1 – pattern number, so 5 – 3. Therefore, b = 2
SO, y = 3x + 2 is the equation 

Equations Practice: For each pattern, figure out the pattern number (the rule) and extend the pattern 4 more terms. Determine the value for Term 0. Then write the algebraic expression for each.  

	1.  3,  7,  11... 


	2. 15,  13,  11… 



	3. 4, 14, 24... 


	4. -8, -5, -2 … 


	5. 8, 5, 2 … 

	6. 6, 18, 30 … 

	7. 4, 9, 14 …

	8. 66, 55, 44 …  
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Patterning WarmUp #2

Joan got 100 chocolate eggs at Easter. She decides to
eat 5 eggs per day from the box, starting today.

* Create a table of values to show the first 5 terms.

 After how many days will she have exactly 40 eggs
left?

* How long will it take her to finish eating all 100
eggs?

Term Term Value
Number (x) (y)
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Patterning WarmUp

Gio recently paid S35 for a membership to join a
fitness center. Hisfavouriteactivity at the fitness
center is Squash, which costs him an additional
S7 each time he visits.

How much will it cost Gio if he plays squash:
a) twice?
b) Every day this week?

Create a table of values to represent the first 5
terms.

Create an algebraic expression so that Gio could
calculate his total costs easily.

Term Term Value
Number (x) (y)
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